TIBEE REEBEERAR—K

/A%*“ =] > [—] > = 2 sz N
e = L ORETAS  MEER WLRR  RESOEARS  HRA eaFEv7  AEARPE  emESEN ¥
FRER)/2A—R BLER  Thums RSN RAESIN RS 3l e 1% HAEE  WAZTHE

BAX
PEX 6 2 - - - - - - - =T4
SEEXIE 15 3 - - - - - - - =T4
d 21 2 - - - - - 2 - ET4
i) 14 1 - - - 1 - 1 - ET4
ILyIRAR) 5 1 13 3 - 5 - - 2 ET4A
JLyYAB(R) 7 1 34 - - 2 - 2 - 514
hE 26 3 - - 8 - - 2 - ET4
AR EFI - - - - 2 - - - - -
BUA 2 1 - - 2 - - - - -
12 22 6 - - - - - 5 - ET4A
il RE 22 6 - - - - - 5 - =T
NELE 14 3 - - - - - - - -
b |REGE 18 3 - - - - 3 - - .
FELXIE 13 3 - - - - - - - -

KAEXERR OLyIZRAHEANRHIRZOEEARR. [H- THOEETY.



